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Story 2 

These days, more and more people enjoy eating 3 

different types of seafood. However, in some parts of 4 

the ocean, this is leading to overfishing. As a result, 5 

there are fish that are decreasing in number. Some 6 

universities in Japan are researching methods to 7 

raise such fish, and in this way, they are trying to 8 

deal with the problem of fish shortages. 9 

Vocabulary 10 

lead to          overfishing 11 

decrease              research 12 

 13 

Questions&Answers【Teach by “DUAL METHOD ”】 14 

1) What do more and more people enjoy doing? 15 

They enjoy eating different types of seafood. 16 

2) Why are there fish that are decreasing in 17 

number? 18 

Because people eating seafood is leading to 19 

overfishing. 20 

3) What are universities in Japan trying to deal with? 21 

They are trying to deal with he problem of fish 22 

shortages. 23 
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4) How are some universities trying to deal with the 24 

problem of fish shortages? 25 

By researching methods to raise fish. 26 

5) Do you eat a lot of seafood? 27 

Yes, I do. I eat some sort of fish almost every day. 28 

No, I don’t. I am allergic to many kinds of seafood. 29 

6) Why are people worried about fish decreasing in 30 

number? 31 

Because if people keep eating them, then they 32 

might go extinct. 33 

7) What are some ways people can help prevent fish 34 

shortages? 35 

If companies were to set up fish farms instead of 36 

fishing in the open ocean, they could create fish to 37 

eat while preserving wild populations. 38 

8) Why is it difficult to prevent overfishing? 39 

Because fishermen come from many countries and 40 

the fish travel to many countries so overfishing is 41 

an international problem. 42 
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